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TR TAYRAHhd 50 AT o MEd. IRGARET WYl I fSTRvarT gHard wvargdr At
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MYST IRAETT-SHHh T hTT STHu= (el
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EEEIN

IARYEhd THal g ooy X Giedl VR ARl TG Hhores IaX WigT TN IR e o
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A, T “IHGIRM TRWS TEIANT TEATAT T [Hedm IR IARIGRN Fard a7 IR
IARUTAhT THE HRIE. AT FreAT SARUMARd A IS TA® Jhr<aT IAIT! Th o raism
TOT TSI HROATT AAS”.
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1. (3N) SN YR 1S3l 2006 IRIT IFPRI T Welthungerhilfe IT AT HISTEAT.
() 2007 &T ATd Concern Worldwide RSN W@ AHS T
(%) 2018 FdR AT Welthungerhilfe I Concern World Wide 3T TR & BERIERISGIGH
TR TTaT 3fiesaT.

T 39Y
(1) 3T %h (2) & Afor &
OERGEEIRETIEIE] 4) 7,9, F

Identify the incorrect statements.

(a) From 2006, IFPRI and Welthungerhilfe Institutes Measures the Global Hunger Index.
(b) In 2007, Concern World wide is also involves in it.

(c) After 2018, onlyWelthungerhilfe and concern World Wide Institutes measure this index.
Answer options

(1) a Only (2) b and ¢

(3) None of the above 4) a, b, c

2. I0g U™ ST,
(37) 1997 AL UNDP 3 H194T STiRee Mazlies HehedmT faeiad shost.
@) 1998 AT T SR FEATAT FaTIT AAT Sed Mozl Jhed-T HigoT.
T 39N
(1) 3 Fh 2) T Fh
(3) 3T 3TOT & (4) 3T 3TITOT & =gl ATer

Identify the correct statements.

(a) UNDP Developed Human Poverty Index in 1997.

(b) Human development Report 1998 first introduced the concept of Human poverty index.
Answer options :

(1) a only (2) b only

(3)aand b (4) both a and b not

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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3. (37) AT S MEzTe Hevariet 3 S T 10 MezTieh ar=dTd.
@) TEAEET RS Fazrish HEdHT IRTe JARMT RIET0T T A0 7 3 AW =R
T,
q—qi_ﬁ?)—ﬂ%:

(1) 3T ®th 2) 3 3nfor 9
OEEINEEIEIE 4) ¥ Fh

(a) To calculate multidimensional poverty index, 3 dimensions and 10 indicators are taken
into consideration.

(b) Good health, education, living standards are the three dimensions considered to calculate
multidimensional poverty index.

Identify correct statement.

Answer Options:

(1) a only (2) aand b

(3) Both a and b not (4) b only

4. SIATOeR SUTHER ST,
(31) 3TYRT FTFYRTS @) IHHATTOT

(%) AAH (@) 3% TG
TRIGIHRT HIoT M3z faamrd ddra?

(1) TFURT T 2) A, T,
(3) A, 7, F 4) 3, &

About Global Hunger Index.

(a) Inadequate food supply (b) Child under-nutrition
(c) Maternal mortality rate (d) Infant mortality
Which of the above indicator take into account?

(1) All of the above (2) a, b, d

(3) a, b, c 4) a, b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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5. IR fouT st
(37) 2011 HL 9ugTq Aol MU, AHISTh, ST SRV 81 ariadT 2TaogrTer 9ugrd
3T
@) IITAT FSToaT=T IE3T ST 2RAhT TSI ST 207 87 314l
qITET 3R
(1) ®h 37 (2) ®h ¥
(3) 31 anfor ¥ (4) T IH

Identify correct statements.

(@) In 2011, economic, social and caste based census was conducted to find out the
deprivation.

(b) The purpose of measuring deprivation is to provide benefits of government schemes to
the deprived.

Answer Options:

(1) Only a (2) Only b

(3)aand b (4) Both incorrect

6. IS MY T FAERIHETT Oéie Su fAeR .
(31) 32T VT T[EHATGATETY hosl STTel.
@) 33T 9T 9T 1931 T STl
(@) 3T TOTHET Ie2T S STeTar 3 9ot gr 3T,

I {9 HIoTdr?
(1) o, = 2) A, 9,
(3) 3T eh @) 7,9

Consider the following statements about socio-economic and caste based census.
(a) Such census is done by ministry of home affairs.

(b) First such census was done in 1931.

(c) Main objective of such census is to find out the deprived class.

Correct statements are

(1) b, c (2) a, b, ¢

(3) a only (4)aand b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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7. SRISPIRITSSIS 3hedRT hioT MBI Hd?

(1) q99 FETa T 99eT (2) T2MS TS He ATHA (NSSO)

(3) Thed HHhT FI3T (CSO) (4) ST FifART ST (NSC)

Who calculates the statistics regarding unemployment?

(1) Ministry of human resources. (2) National Sample Survey Office (NSSO)
(3) Central Statistical Office (CSO) (4) National Statistical Commission (NSC)

8. (3 YHZIHI TUTSH SMMUHTHAT AThT IS BIehaAT

@) THIOIT AR SRS Slehdw&T qred.

Ty /A ROt/

T 39N

(1) <h A (2) ®Bh
VEEEE (4) 3Iel e

(a) The labour force is the economically active population.

(b) In labour force employed as well as unemployed population is considered
Which is/are correct statement/s.

Answer Options:

(1) Only a (2) Only b

(3) Both a and b (4) None

o o o o . o . a
9. diomloHenl nl¥idl JlddqYlen a AT HTSI AT IddUlh lel?

(3n) Rrgror () IR =T

@) qdeT () TAAUHT Tehe! ATEl

T I

(1) 3, VERED

(3) = 4 s

Investment in which of the following is not an investment in 'Human Capital'?
(a) Education (b) Health services

(c) Tourism (d) None of the above

Answer options :
(1) a, b (2) b, c
(3) c “) d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



7 EINER R ECIRIEEIR

10. 3WPT UM/ 3.
(37) Sf=IadT AISTOGTETST UTHOT HANSA U, Al FGAT AAdr 29T
@) FFAT A 3iTaH 38T 2008 T HTER FHedl.

T 39X
(1) 37 3MfoT & (2) § &Th
(3) FI=T ATEr (4) 3T Feh

Identify the incorrect statement/s.

(@) To measure deprivation, ministry of rural affairs appointed N. C. Saxena committee.
(b) Saxena committee submitted its final report in 2008.

Answer option

(1) aand b (2) Only b

(3) None (4) Only a

11. HFEaT 9iede ez (HCI) T YhIEd Hid?

(1) 9eS THHITHE BIRH (WEF) (2) Tos b (STOTTA Sh)
(3) TCARRTST AT (IMF) (4) SIS Thel ATar
Who publishes Human Capital Index?

(1) World Economic Forum (2) World Bank

(3) International Monetary Fund (IMF) (4) None of the above

12. AT Ry Fezie Tisaras @reiadal sivd Fezrie aroRdrd?
(37) HATZATT

OREISEIGRLIERI

() RSTE I

T 39N

(1) 31, 9, & 2) 3, T
(3) 3T STOT & (4) Bh &

Which of the following indicators used to calculate Human Development Index (HDI)?
(a) Life expectancy

(b) Social inequality

(c) Per capita income

Answer option

(1) a, b, ¢ (2) a, b

(3) a, c (4) Only b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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13. Wo® MSIET SR .
(31) SIS IqA
(@) TRTERT STATERAT TS
(@) FHAT AR T
BT IR RT ATUROIO SR g 33adr Idr?
T 39
(1) 3 3T % Q) A, T, H
(3) 31 nfor & (4) TASTHT THer el
Consider the following.

(a) Per Capita income

(b) Average illiteracy level

(c) Health status of its people

The development of a country can generally be determined by?
Answer Options:

(1) a and c (2) a, b, ¢

(3) b, (4) None of the above

14. [T I9Id 9T 1000 [ST6d STAMRT ATTT=AT UlaedT 28 IUT fRaA ey FdT AT H1d
U AR ool SIT?
(1) TG R (2) S IR
(3) TS J =R 4) 99 PR 9 )
The number of deaths during the first 28 completed days of life per 1000 live births in a
given year is defined as?
(1) Infant mortality rate (2) Crude Mortality rate
(3) Neonatal mortality rate (4) Age-Specific mortality rate

15. Qe YT [AeR &
(37) STeTfaeh T STE|TaT [He2Tish 8 UNDP @R UehIT3Id shoT SiTdl.
@) ST ST STTHTaT fRazris 2022 TR Fde T9q HHisER 3T,
T farT/~ roTd/a?
(1) TFURT T (2) TAFURT Tl TRl
(3) 3T h 4) ¥ Thth
Consider the following statements.
(a) The Global Gender Gap index is published by UNDP.
(b) Finland ranks 1st in 2022 Global Gender Gap Index.
Correct statements is/are
(1) All of the above (2) None of the above

(3) a only (4) b only

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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16. HIVTATE! IMTEAT HeHTd WIHIGUH! HIvTdT Teh T ATeAT AT iedgarT HRT AF]
SEh?
(1) BIHISAIS ATERA THTOT
(2) U iU 9T
(3) THERT IIRTS JHTOT
(4) TETSITAI URER [T enfor gHarersir uTdesr

In the context of any country, which one of the following would be considered as a part

of its social capital.

(1) The proportion of literacy in the population
(2) The part of infrastructure

(3) Size of working age population

(4) The level of mutual trust and harmony in the society

17. WHTHUhT HIoTd diF Mesiier Aar [aera ez qrsTam@T aoRdrd?

(37) TEOTNATHTT TSI @) Rreror
(@) TETEROTE! Rt () LA
TR 39N

(1) SIATRT T 2) 3, &, T
(G) AT, T 4 A, 9,

Which of the following three indicators are used in the Human Development Index (HDI)?

(a) Standard of Living (b) Education

(c) Condition of environment (d) Life expectancy
Options

(1) All of the above (2) a, c, d

(3) a, b, d (4) a, b, ¢

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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18. WEATAMT SN ME2ehia WIeTeUh! HaATET FHET Bar?
(37) T2T8T0T, TR, HIGHAT STTOT FIr=i S,
@) T ISR ha3RAl FHdT.

(@) IASTSTIAT Jerdr AT

T 39N

(1) YR T 2) 3, T
(3) § 30T & (4) WTh 37

The multidimensional poverty index covers which of the following?
(a) Deprivation of education, health, assets and services.

(b) Purchasing power parity at the national level.

(c) Extent of the budget deficit.

Answer options

(1) All of the above (2) a, b

(3) b and ¢ (4) Only a

19. 9T faerT M ST SR THTeT o 1T 3-Y ZTehd?

(1) 1 10 2) 0T 1

(3) 1 9 100 (4) FHATH oI TR

In HDI, what is the maximum possible value?

(1) 1 to 10 2)0to1

(3) 1 to 100 (49) No maximum value

20. SPTH ATHEAT FS3Nh (GII) WTSISUh T Fisdr?
(37 ol afde smar
@) e e s
@) e IR FHEEar
g 3T
(1) THURT TS @) 3, &
3) 9, % 4 3, %
What does the Gender Inequality Index (GII) measure?
(a) Economic inequality between genders
(b) Educational inequality between genders
(c) Health inequality between genders
Answer options
(1) All of the above (2) a, b
(3) b, 4 a, c

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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21. o7 sramar Mz S HivTa?

(37) ISR () IAgATT

() ISR &= (®) 3=

T 3R

(H) 9, = 2) A,

3) A, S “4) A, b

What are the dimensions of Gender inequality index?

(a) Reproductive health (b) Life expectancy
(c) Employment (d) Income

Answer option
()b, c (2) a, b
(3) a, d 4) a, ¢

22.  IRY STredT S[eT.

EL] EINED

(31) 1990 (i) 3T TR RIER T AR Teg

) 2020 (i) TAT SEHIHT BR YL

@) 2022 (iii) I FUg HRHe 31T HDI

) 2016 (iv) TR el : EAT SEGIHE N0 YR
@@ ®D O

(1 iv i iii ii

(2) iii iv i ii

3) i iii ii iv

4) ii i iii iv

Match the pairs.
Year Tittle

(a) 1990 (i) Shaping our future in transforming world

(b) 2020 (ii) Human development for everyone

(c) 2022 (iii) Concept and measurement of HDI

(d) 2016 (iv) The next frontier : Human development and Anthropocene
@ ® © @

() iv i iii ii

(2) iii iv i ii

3) i iii ii iv

4) ii i iii iv

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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23. (37 T7 muniRa AT [esiies 1995 A AW WhiT2Id Shevgrd 31T,

@) 2010 T T maniRa e Mezisr TheEe i,

I faem sfiesa.

T 3R

(1) YR T OEREEEIRETIRIE
(3) Heh T 4) Fh &

(a) Gender Development Index was first published in 1995.

(b) Publication of Gender Development Index stopped in 2010.
Identify correct statements.

Answer Options:

(1) All of the above (2) None of them
(3) Only a (4) Only b

24. SRR IAAEAT M HIOTAT geh ASdTGs SR ASTdr?

(37) ATAHIER
ERERIEERIER SRS

o

(@) STHTATIS! ATIA

T 3TR

(1) 3T 3nfor & (2) Bh &
(3) IASUD T (4) 3T Heh

In the Gender Inequality Index which component measures the reproductive health?

(a) Maternal mortality rate.

(b) Adolescent fertility rate.

(c) Life expectancy at birth.

Answer options

(1) a, b (2) Only b
(3) All of the above (4) Only a

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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25. (30 IBY 9 Raimdie et 3w sy T sramie foewry ez e 1 3.
@) T STuRia T [azTies 1 98T HHT SRAT TEOTSt RAaiuetT YS9 fahRT el 3ot
AT [T M.

T 3T
(1) 37 %7h (2) ¥ Hth
(3) 37 3OT & (4) SeT AR

(a) Gender development Index score is 1 if there is equality in men & women.

(b) If the score of Gender Development Index is less than 1, means men are less developed
than that of women.

Identify incorrect statement

Answer options

(1) a only (2) b only

(3)aand b (4) None

26.  IT fIUT STresET.
(31) HIRAT=AT 2001 =AT HDI W 319 State of Human Development % @ﬁ
() HIRAT=AKT 2011 =AT HDI W 3¥& Towards Social Inclusion % ‘@ﬁ
T 3L
(1) O<h A 2) ®th &
(3) ST A (4) FET A
Identify correct statements.
(a) India's HDI Report of 2001 titles 'State of Human Development'.
(b) India's HDI Report of 2011 titles "Towards Social Inclusion.
Answer options
(1) Only a (2) Only b
(3) Both incorrect (4) Both correct

27.  SIPTeR T5T STTiRe 3= MS3lieh ShIvT WehliaTd hid?

(1) UNDP (2) WEF
(3) IMF (4) OPHI
Who publishes the 'Global Gender Gap Index?

(1) UNDP (2) WEF
(3) IMF (4) OPHI

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28. VelAvud T FHEISIT AT AT Mesie=l 0T S ol Te?
(1) HDI + 9aTaRoNYT RERAT =hiT (2) HDI - Y9TaRoT RERAT =i
(3) HDI x JaTaRoNT fRBRAT =hiT (4) HDI + YITERTT fRBRAT =hiT

How is the planetary adjusted Human Development Index calculated?

(1) HDI + Environmental Sustainability Score
(2) HDI - Environmental Sustainability Score
(3) HDI x Environmental Sustainability Score

(4) HDI + Environmental Sustainability Score

29. WSIHUh AN [T SHioTe?
(1) 9RA™ YT A SR T8aTa 2001 3T WRIT2TT hodt.
(2) TATIAR AR AT [IhT hecsdT grdl.
(3) AT FEITAAR T HHT AT TTHRT TG ST Bl
(4) TT AT 1999-2000 HHIS HDI i B

Identify the incorrect statement.

(1) In 2001, India published it's first human development report.
(2) According to this report, Kerala ranks top.

(3) According to this report, Jharkhand was at last position.

(4) This report gives HDI of year 1999-2000

30.  SHIOTAT/d YT SRTeh STAHIAT Mozl aR A= T ToEae H9 3% veiRia sedr

(37) ST-HERT ATTSheT @) feroT M.

@) e 23T (@) 3T IR (ST T JUAQ)
TR I

(1) 3, & 2) 9, %

3) 9,9 4) &, S

Which region generally exhibit lower level Gender Inequality according to GII?
(@) Sub - saharan Africa (b) South Asia

(c) Nordic Countries (d) North America (Canada & USA)
Answer option

(1) a, ¢ (2) b, c

(3) b, d “4) c, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31. (31 AT (IhATdIe STEAT HDI 7 UiatsiSd ard.
@) T [hTdIe AT GDI 9 Ufafsiad g,

Iy [ ST

T 3R

(1) T 3mfor 9 (2) ®<h 3T
(3) 37 3nfoT & g (4) Fh &

(a) HDI shows inequality in human development.

(b) GDI shows the inequality in human development.
Identify correct statements.

Answer Options:

(1) aand b (2) Only a
(3) a and b incorrect (4) Only b

32. (37 UNEP o Uefavge 19 IHEISId AT [9hrd Faslis Aiger.
@) TEATTH S99 FHEISIT AT {9 Mezie idiuerd AT HISToRT Meslish 3.

TIGUDT RO T 3T 3e.

T IR

(1) & Sh (2) 3T B<h

(3) TASUDT T (4) TASIDT Thel ATar

(a) UNEP introduced planetary pressure adjusted Human Development Index.

(b) Planetary pressure adjusted human development index calculates intragenerational
equity.

Which of the above statements is/are incorrect?

Answer Options:

(1) b only (2) a only

(3) All of the above (4) None of the above

33, IIMTEAT MMYH fARMTdie RIeonaRis Jaauh AgW QelGusl HIvl Aige?
(1) ST, 5% (2) <I. =Y. Ieced
(3) HTThes el ) I oy
Who among the following mentioned the importance of investment in education in the
economic development of country?
(1) G. Haberler (2) T. W. Shultz
(3) Michael Todaro (4) Adam Smith

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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34. IR SITSAT SfoadT.

EEll
(30 <
() 9IRd
() STETes
(€) BT
(CONNE)
1 iv i
(2) iii i
3) ii i
4 iii i
Match the pairs.
Country
(a) China
(b) India
(c) Brazil
(d) France
(@ (b
1 iv i
2) iii i
3) ii i
4 iii i

iii
iv
iv

ii

(c)
iii
iv
iv

ii

ii
ii
iii

iv

(d)
11
ii
iii

iv

HDI 2022 SHAIRT

(i) 132
(i) 28
(iii) 79
(iv) 87

Rank HDI 2022
(i) 132
(ii) 28
(iii) 79
(iv) 87

o X

o o Y [N 2
35.  HTAlAYehl hlUTd Ich HTSRIh THAdIAT

@ Feas T=TideTT 399

CONGERCIE
ERIRIISEES
(1) ®<h 3T
(3) hh o

BERIEICIESK
@) Mg ISFd gRee 39

() AT AT SRAAAT

(2) TTUT AT
(4) 3T SOT §

Which of the following factors are indicators of regional imbalance?

(a) Net State Income

(c) Investment Trend

Answer options :
(1) Only a
(3) Only b

(b) Net State per capita income

(d) Infrastructure Inequality

(2) All of the above
(4)aand b

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.



17 EINER R ECIRIEEIR

36. SN 5T TR 3fa” azrierr IRl Hordr?
(3N 7T el ITdes! Uasi 3faR JisTdr.
@) T 3R AeHEde 3iaR AsToageT yeMHdie $dT qister S,
@) T TR AT F2HIHROTYET iTeh TR ¥ 09T ATl 3Te.
T 3N
(1) TR T (2) 37 3MOT §
(3)q, & (4) 37 3nfor &

What are the characteristic of Global Gender Gap Index?

(a) This index measure gap than level.

(b) This index measures gap between outputs than gap between inputs.

(c) This index focuses on gender equality rather than women empowerment.
Answer option

(1) All of the above (2) aand b

(3) b and ¢ (4) a and c

37. (30 IHDL [esier ariu<a Maerardiaom aisomRT Resis e,
@) PHDI =T fUERiania Fraetardiaom JisTomT Fezis e,

g fa9T sfiesa.

T 3T

(1) 3 Thth (2) ¥ B<h
(3) 3T 3TOT & el ATer (4) 3T 3TIOT &

(a) IHDL Index measures intergenerational equity.

(b) PHDI Index measures intragenerational equity.

Identify correct statements.

Answer Options:

(1) a only (2) b only

(3) None of the above (4) a and b both

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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38. AN SIreT S[edT.
TR gIRAToT EIRI)
(37) TH. 9T, . (i) SraTgs, T, I SieE
@) TE. 9T, 37, (i) T2reToT SMTOT MRAgERIe T
@) T dgHH AHAT (iii) 10 Fezrsar amR

CONNCIEERC

1) i i ii
@) i i iii
3) i i iii
@ i i i

Match the pairs.

Poverty dimension

(a) MPI

(b) HPI
(c) Suresh Tendulkar

committee

(D
(2)
3)
4)

()
iii
ii

i

iii

(b)
1

i

ii

ii

(©
ii

iii
iii

i

Characteristic

(i) Long life knowledge and decent standard of living.

(ii) Expenses on education and health

(iii) Use of 10 indicators

39.

SigTET Hifds I[oTaET Mozt (PQLI) HISTAT HivTAT Uesh SeRTd 9daT S 18l
(37) 3ruferd A

(%h) AT
TR 3T

1 A, 9
OERT

() TS I

(S) TR AT

(2) ¥ Hh
(4) T HTh

Which factor is not considered while calculating physical quality of life index (PQLI)?

(a) Life expectancy

(c) Infant mortality

Answer options

(1) a, b

(3) ¢ only

(b) Per Capita income
(d) Literacy

(2) b only
4) d only

T HHTETS! ST /| SPACE FOR ROUGH WORK
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40. TP ST TosaT,

(37) IHDI - 2010 @) GEM - 1997
@) HPI - 1995 () GDI - 2014
T 3AY

(1) 31, 9, & (2) TSIHT AT
(3 3, s 4) 9,4, s

Identify correct pairs.

(a) IHDI - 2010 (b) GEM - 1997

(c) HPI - 1995 (d) GDI - 2014
Answer options

(1) a, b, ¢ (2) All of the above
(3) a, d 4) b, c, d

41.  HqHaT e Mz 99w 9o WrSiatl HIoTdT I8 Jdra?

(31) SBUMES HeaT CIREEN

() TS () HERTY
@ ATy

q—gﬁ_ﬁﬁi

1) A, 9,8, ¢ 2) A, h, S
3) A, &, h, €, T 4) 3, h, S, ¢

Which states come under middle category of India's Human Development Index?
(a) Arunachal Pradesh (b) Bihar

(c) Nagaland (d) Maharashtra

(e) Tamilnadu

Answer options

(1) a, b, d, e (2) a, c,d

(3) a, b, c,d, e 4) a, c,d, e
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42. (31 SIRIh Shdl ATHSTRT ITRIS SMReT S2Tad.

(&) OPHI I MPI T4 3Tehearel FTdfdes ived 2iad.

IR [T 3fresaT.

g 3R

(1) 31 ™th (2) ¥ H<h

(3) 3T MOT & (4) TAGHURT Sl ATer

(a) Statistics of World Bank shows acute poverty.

(b) Statistics of OPHI related to MPI shows extreme poverty.

Identify correct statement.

Answer options

(1) a only (2) b only

(3 aand b (4) None of the above

43, (37) HERTEH Ufedl A TIhNT 78T 2002 T ehIRId hol.
@) HERTEH IRT A [ShRT g 2012 TH YHIT2Td Ha.

&) TERTE AT THNT 3T8aTs 2012 THAR HERTEMNET HDI 0.752 BT,

T [ afiesa.

(1) TSR T Q) 3, T

3) d, 4) A,

(a) Maharastra published it's first human development index report in 2002.
(b) Maharastra published it's second HDI Report in 2012.

(c) According to Maharastra HDI report 2012 Maharastra's HDI was 0.752

Identify correct statements.

Answer options

(1) All of the above (2) a, b
3) b, c 4) a, c

44, TEITAHT AR Maznich FITeH HET JhIRId HRoard AN

(1) 1997 (2) 2006
(3) 2010 (4) 2014
Multidimensional Poverty Index was published first time in which year?
(1) 1997 (2) 2006
(3) 2010 (4) 2014
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45.  (3T) 1995 =AT HIAA 9T srgaTeT™ 2NYF Gender and Human Development' I @ﬁ'

@) T MEATST [OPTHETER UehT2T SThogTd STTT.

T fa STiea.

T I

(1) T 3mfor 9 (2) ®<h 3T
(3) T (4) ST AATEr

(a) The title of 1995 HDI Report was 'Gender and Human Development.’
(b) In this report the problem of gender inequality was addressed.
Identify incorrect statements

Answer option

(1) aand b (2) Only a

(3) Only b (4) None of the above

o o X

46. 2010 =AT HDI 3AgdTald IO A BEEIE eRTT2Te ShRodTd 3TTch?

(3) IHDI ) GEM

(<h) HPI () MPI

@) GII

R IR SISES

(1) A, S, 3 (2 H, 9, %,
R 4) A, S

In HDI report of 2010 which of the following new indexes published?

(a) THDI (b) GEM
(c) HPI (d) MPI
(e) GII

Answer option
(1) a, d, e (2) a, b, c, d
(3) b, d, e 4) a, d
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47. Sk 5T e 3faR EzIr=aT ST 9esh ShivTd?
(30) AR FHETT @ T
(&) 2reIfoTeh eTHar @) IR
® ewe () XTSTRIT TR
TIRT I
(1) 3, &, (2) TR FT
3)3A, 9,8, % 4) 3, h, S,
What are the components of the Global Gender Gap Index dimension?
(a) Economic participation (b) Opportunity
(c) Educational attainment (d) Health
(e) Survival (f) Political empowerment

Answer options
(1) a, c, d (2) All of the above
(3) a, b’ d’ f (4) a, C, d, e

48.  HHAT T Moz 81 Ardie IRTERT T3 AT .
SECERRRIE
@) Wi ATERAAT HeHTdIe 39
@) SRS TETH S Al TeaaR|
EEIRIIES RS
(1) IAHURT I 2) 3, &
SERD 4) 3, o

The Human development index measures average achievement of -
(a) Long and Healthy life

(b) Knowledge in the context of adult literacy

(c) Percentage of population below poverty line.

Answer options

(1) All of the above (2) a, c

(3) b, c 4) a, b
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49. 2022 AT |14 i-aohN*l SRSl ISR AL QbHioh niVIicdl g‘g?ll‘dl aldl?
(1) FRaETde
(2) A9
(3) ATEAAE
OREEITE

According to HDI Report 2022 which country ranks first?
(1) Switzerland

(2) Norway

(3) Iceland

(4) Finland

50. AT ETST HHT I 30T e Aar [T o T shrora rsama famg T 3
(1) ST
(2) HeRTE
(3) IS
(4) FATCH
Which state shows a picture of comparatively lower income and higher human development?
(1) Rajsthan
(2) Maharashtra
(3) Kerala

(4) Karnataka
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